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Following are some new 300-070 Exam Questions:1.|2019 Latest 300-070 Exam Dumps (PDF & VCE) Instant

Download:https://www.braindump2go.com/300-070.html2.|2019 Latest 300-070 Exam Questions & Answers Instant

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNMzVucWVTMlQwMWc?usp=sharingNew QuestionWhen a new

subscriber is added to a Cisco Unified Communications Manager cluster, how must the subscriber be configured so that is can

receive database updates?A.    The subscriber uses the security password configured when the subscriber was configured.This is also

configured in the publisher and validated on the initial replication of the database.B.    The subscriber uses the subscriber security

password configured in the publisher.C.    The subscriber uses the same security password configured in the publisher when it was

created.D.    The subscriber uses the IDS security password.Answer: CNew QuestionRefer to the exhibit. ABC Company uses the

digit 9 to get a dial tone and type a DN. A user needs to type 8811202 and automatically send the call to a cellphone. The Network

Administrator did this configuration, but it is not working.Which two actions can the Administrator take to solve this problem?

(Choose two)A.    In the Translation Pattern option, delete the digit "8".B.    In the Translation Pattern option, delete the digit "9".C.  

 In the Route Option option, select Block this Pattern.D.    In the Called Party Transform Mask option, prefix the digit "9".Answer:
BDNew QuestionThe Cisco Unified Communications architecture supports which three technologies? (Choose three.)A.    Physical

SecurityB.    Cisco Unified Video AdvantageC.    Intelligent Building ManagementD.    Contact CenterE.    Workforce Optimization

F.    Smart Grid ManagementAnswer: BDENew QuestionWhat are the three characteristics that govern the type of Cisco Unified

Communications Manager deployment model? (Choose three.)A.    number of applicationsB.    sizeC.    type of applicationsD.   

network characteristicsE.    services provided by the PSTN carrierF.    geographical distributionAnswer: BDFNew QuestionWhich

codec provides native WebRTC-based video chat support in browsers such as Mozilla Firefox?A.    H.265B.    WMVC.    H.264D.   

G.711E.    H.323Answer: CNew QuestionAn engineer is setting up a system with voice and video endpoints using auto-QoS policy

on the switches. Which DSCP values are expected for interactive voice and video?A.    F and AF-41B.    EF and CS6C.    EF and

CS3D.    EF and AF21Answer: AExplanation:

http://www.cisco.com/c/en/us/td/docs/solutions/Enterprise/WAN_and_MAN/QoS_SRND/QoS- SRND-Book/QoSIntro.html
New QuestionWhich statement about translation patterns and transformation patterns is true?A.    Both transformation patterns and

translation patterns support only numeric values.B.    Translation patterns support numeric and alphanumeric values, whereas

transformation patterns support only numeric values.C.    Transformation patterns support numeric and alphanumeric values,

whereas translation patterns support only numeric values.D.    Both transformation patterns and translation patterns support numeric

and alphanumeric values.Answer: DNew QuestionWhich two are enterprise parameters? (Choose two.)A.    User search limitB.   

T302 parameterC.    Enable Call Detail RecordsD.    Enable Dependency RecordsE.    codecs parameters for voice media-streaming

applicationsAnswer: ADNew QuestionAn organization has built their video infrastructure to perform ad hoc video calls, but they

also need to conduct managed video conference calls. Which hardware component is needed to conduct these calls?A.    VCS-EB.   

IOS gatewayC.    MCUD.    TelePresence serverAnswer: DNew QuestionRefer to the exhibit. A Network Administrator needs to

create a SIP route pattern to communicate with Monterrey's Gateway. The Administrator does not understand why this is not

working properly. Which two statements explain the issue and resolve the problem? (Choose two.)A.    The Administrator needs to

set up a SIP trunk between Monterrey's Gateway and Cisco Unified Communications Manager.B.    The Administrator should type

the reload command into Monterrey's GatewayC.    The issue is caused by a failure of communication between the Monterrey's

Gateway and Cisco Unified Communications ManagerD.    The issue is caused by incorrect protocol integration between

Monterrey's Gateway and Cisco Unified Communications Manager.Answer: ADNew QuestionTo verify that proper digit

manipulation is being applied when using called party transformation patterns, which Cisco IOS command do you use from the

router or voice gateway?A.    show voice ccapi inoutB.    debug voice ccapi inC.    show voice ccapiD.    show voice ccapi inE.   

debug voice ccapi inoutF.    debug voice ccapi outG.    show voice ccapi outAnswer: EExplanation: 

http://www.netcraftsmen.com/called-party-transformation-patterns-example-and- validation/!!!RECOMMEND!!!1.|2019

Latest 300-070 Exam Dumps (PDF & VCE) Instant Download:https://www.braindump2go.com/300-070.html2.|2019 Latest

300-070 Study Guide Video Instant Download: YouTube Video: YouTube.com/watch?v=9CpThZbTHFw
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